Nr Srednica [m] po potr. na ., objetosé¢
Gatunek [x] i dtugos¢ e
drzewa kore m3
1|sosna 0,24 12 0,54
2|sosna 0,23 12 0,50
3|brzoza 0,34 12 1,09
Razem: 2,13
Drewno stosowe
Nr stosu
Gatunek Dt/szer/wys/wsp. objetos¢ m3
drzewa /szer/wys/wsp je
1|dab 55x2,5x1,0x0,62 8,53
2|swierk 2,5x2,5x0,5x 0,65 2,03
3|swierk 2,5x2,5x0,7x0,65 2,84
41Swierk 1,0x2,5x0,8 x 0,65 1,3
5(dagb 1,5x2,5x0,4x0,62 0,93
6(|topola 4,4x2,5x1,0x0,62 6,82
7]kolon 3,0x2,5x1,0x0,62 4,65
8|sosna 2,0x2,5x0,6 x0,65 1,95
Razem: 29,05




